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Math 305 PRACTICE EXAM 2

1. Find the general solution yh for each of the following.

a) y′′ + 3y′ − 18y = 0

b) 9y′′ + 6y′ + y = 0

c) y′′ − 4y′ + 5y = 0

d) y′′ + y′ − y = 0

2. Consider the problem (see more homework problems)

x2y′′ − x(x + 2)y′ + (x + 2)y = 0

a) Show that y = x is one solution.

b) Find the second solution.

3. Solve the IVP using two methods. (see more for sect. 3.4 and 3.5 )

y′′ + 4y′ = 36t2 + 34t

y(0) = 0

y′(0) = 0

4. Consider the problem

y′′ − cy′ + y = 0

for some constant c. Describe how the behavior of this solution changes as c varies.


